Engineering 7811 Tutorial 1 Winter 2016

1. The electric field of a particular e-m wave given by E = 2 FEj cos [1087r (t — %) + 0}

is the sum of El = 20.03 sin {10871' (t — f)} and E2 = 20.04 cos {1087r (t — %) — g}
where c is the velocity of light. Find Fy and 6.

2. Given that the E-field of a particular spherical wave in free space is
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determine the ];T field.



3. The time average Poynting vector (average power density) for the radiation
from a particular antenna is given by
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where Ag is the peak value of the power density, 6 is the usual spherical coor-
dinate, and 7 is the radial unit vector. Determine the total radiated power.



